MNATH 2050C Lectuwe 1S (Mar 16)

Lu’wﬁ‘\' of Functioms (Ch.4 i Fextbook)

s b
G\OAL‘ Define »&':':; 0 for Runcrons £:AcR &R

L‘m (* Qs e 0 .
We shean Ow\a Aedne y~)c{ ) 'cgf *wose C s Waichh ave

“clu ster patat “ ok A .
“ po ss F(x) s defled.

S O\

TOEA: L) L whan X 2C awk Xe A

Def? 1 Let A € R . We sey that € € R is a cluster point of A

f USs0 3 XeA st X5C omd \x-cl<§
A
S - .
P o) > R
‘S<‘

RQMM\‘: A cmster pt. cer Wey or mey wnest bdoﬂs ©“» A.

'
A

xemp\es .
j B T S S
. A=14,2} NO clustr pt. ) -1 > > R
. A = (0, i) Ayua Cc ¢ [001] $ a cluskes P‘t _(_._)_._'_H_,_’C S mSant R
i 2
e A=10a.0a] NO dusts gt.
) A = \'N N=Q Clusters p‘t. e e e e e o o R

4 2 2 « S 6 w

A= (L:nemy ONLY 4 duster gt
C=0 C oo




‘Pf_Btf C ¢ \R s a clustwy ?os'w* “" A

<=Y 3 ¢ () m A St OGnu¥C VYneN

and /cl‘m (an‘ =C

Sketcta of Trant . (=7) Toke 8“-.-:{—‘ . by def2.3 Qne n st
\ Q) na®

Gn% C omck \a..-c,\<g,,=7‘ — o

—

Common waistelee ™ Ex. 33.% .

X.‘-=a>0

Lay == At i’n JnCIN .

nsf
)
Assuwe Qon CXAY =: X exist. =) A=A+ X = O = ;LC > |
Comvest
wels 8 A%O |

L -

We nove state thae wost Gm?qr(-w\f defvaitiow oy Hwis chepter,

DQ‘EQ, LQ‘\' £:AcR — R be a Functon.

Supposz CeR is a clusten gotnt o8 A .

e Say) ot 5 Converges to LeR at ¢ " evttton

.o

ffzt Feo =L or Ff - L as xoc

4+ VY E»o,3 §=8(2)>0 st

so X%$C

“SCZ)'L\‘ ,V’LeA whare 03\1-C|<8



EYQW\P\I 1: Lgf -gs R =R be +(1)=‘.’ X v ol xe R,

Liwmf2) = ¢ ¥VceR.

X9 C

?_{’ ﬁnj C eR s & cluster pt of A=R.
Lot >so be fixed but Grb&vova,

Choit S>30 st S =

Tuen, Ve R , ond O<lx-cl< S , we Waw

| Sm=-c| = Ix-c\<¢ &=

RWM:k-. Lom ‘F(I) mev) Quist s with ‘F bz.‘us daded ot C .

X=3C

El) £:.A:z.1) =R ; Foo:rsx

= Lwfonz=14s A

X4
EXCMP\C 2 : LW\ xz - C3 . $:-A=R =R
X9 C L) = x?

H: Fix ceR.
Let £ >0 be fixed but arbitreny.
Note: Suppest (X-cClc 4, Hum

\x| € [Xx=c|+lcl < 41+1c|

C‘Aeau S'—-‘— W\ﬁ'w;i. ])
2 (4 21cl)




THEN, ¥Xe A=R wth OCIX=c |\ < & , we hewt

| =< = Ixtcl Ax-c | € (14n9) € <

Exampu 3 Lim < ‘-'EJ where C %0 .
A-C

)
(ovsidaiy §1 8RR, Foos g

Fing Ang CccR 5 custer gt of A

Pi-. Let's assume €S0, T ocix-cics .

Let £ >0 be fixed but arbitreny

LL.,L - I x=c|
1Xcl

Nete: T |x-cl< & . *an
- 2 = L L (x. 2
T \X-€l < 5652
x> & 50
2 NQD( x| &dd Gwey frow O
h
.- C C .
¢ € 2 ')'R

-] c

Tuem, WX c A and O0CIX=-Cl<C §

W heve

\“' ‘L\ e x-c | < . <

1xi \cl c?




